
MAR-FLEX EGRESS COVER INSTALLATION INSTRUCTIONS 

Step 2 
Using a 1/16” drill bit, drill one hole in the window well at each of the 
approximate locations shown above. The holes should be drilled 1” 
from the outer edge of the window well. (See picture on left) 

Step 3 
Using a Philips screwdriver, pre thread the screw to start out the hole 
using the 3/4” #6 screws included in hardware packet and then remove. It 
is recommended doing this by hand so you avoid stripping the holes. 
Screw the Black Snap Washers in place. 

Step 4 
Secure the Black Snap Washers with the 3/4” #6 screws. Be careful not to 
over tighten! 

6-Black Snap Washers 6-Square Black Self-Stick 6-3/4” #6 Screws

Step 1 
You will be installing 6 snap connectors 
to your well and cover: two 4” from the 
back wall, two 22” from the back wall, 
and two 40” from the back wall. 
(Locations shown on left) 

Page 1 of 2 

MAR-FLEX WATERPROOFING & BUILDING PRODUCTS | 500 BUSINESS PKWY | CARLISLE OHIO 45005 | 800-498-1411



MAR-FLEX EGRESS COVER INSTALLATION INSTRUCTIONS 

Step 5 
Lay cover centered on the well from right to left, ensure the back of the 
cover is flush against the house. Use a marker to place a dot on the cover 
in the center of each of the six black snap washers. (See picture on left) 

Step 6 
COVER MUST BE AT ROOM TEMPERATURE (70 degrees F or above), 
otherwise adhesive will not stick (take indoors if needed). Peel back the 
self-stick adhesive pad and position the Square Black Self Stick Snaps – 
centered on each marker dot on the underside of the cover as shown on 
left. Be sure to push on tightly and rub so the adhesive sticks to the cover 
properly. Let cover sit for at least one hour before using clips so the 
adhesive has time to cure. 

CLEANING: Window Well Covers may be cleaned with a mild solution of detergent and water. 
Use of harsh chemicals and scouring powders should be avoided.

Not suitable for load bearing weight. 
For paint splatters, DO NOT USE PAINT THINNERS OR SOLVENTS! ONLY USE RUBBING 
ALCOHOL FOR CLEANUP.

 

Page 2 of 2 

MAR-FLEX WATERPROOFING & BUILDING PRODUCTS | 500 BUSINESS PKWY | CARLISLE OHIO 45005 | 800-498-1411

Step 7 
Place cover back on window well and push down to 
attach the Black Snap Washer to the Square Black 
Snaps. 


